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< 1,400,000
s 600,000
T AEHIZXEUY 2,000,000 500,000 1,500,000
< 1,400,000
s 600,000
01 A& HI 1,497,000 500,000 997,000
OS3tXI 7 of & THoll Ol 2 At 1,497,000
< 1,047,900
[ia 449,100
02 Zeltl 500,000 0 500,000
Oss 38 d SgALAE 2 500,000
S 350,000
s 150,000
03 AlE 2 THHI 3,000 0 3,000
OSatX 7 StETHOH I ALY AlE S THHI 3,000
= 2,100
[ia 900
01204 Ol &F AL (BHE 2 OF) 30,000 0 30,000
401 Al HIZ 2018 30,000 0 30,000
01 A& HI 30,000 0 30,000
OANsSZd HEHISE ZHISA 30,000
=Jtotd S X 2el 15,000 0 15,000
= 15,000
101 @124l 5,000 0 5,000
= 5,000
M4 I12HHZ22NSES 5,000 0 5,000
O=Jtotd HERXE(EHI S) 5,000
= 5,000




AR RSN R
M H@AsH
& st zel (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
401 AIEBI L 2CHEI 10,000 0 10,000
= 10,000
01 A€ HI 10,000 0 10,000
O=Jtotd X 22AtY 10,000
= 10,000
Xl ==2el 6,009,359 5,836,200 173,159
= 2,309,859
s 3,699,500
ACHEEH (ME)(MEAY) 2,803,000 5,367,000 2,564,000
401 AIEHI YL 2CHYI 2,803,000 5,367,000 2,564,000
01 AlZHI 2,800,000 5,363,000 2,563,000
OAcHd HHIALLY 2,800,000
—Jlot=A0td 1,500,000
— =X AG5HA 1,300,000
03 Al€ 2 i H 3,000 4,000 A 1,000
OAactEEHIAME A2 3,000
SHE(Xgotd, AGHE) |Xl2el 141,000 251,200 A110,200
401 AIEHIZ 2 I 141,000 251,200 A110,200
01 A€ dl 140,000 250,000 A110,000
Odtd =Xl 2l At 140,000
— otdEE & +=SHA 130,000
— otfd2elAAEY RI22ES 10,000
03 Al 2 CHHI 1,000 1,200 2200
Odtd =X 2cIAd Al 28I 1,000
AGHA THOH Ol 2 AL 755,500 218,000 537,500
401 Al HI L2 THHI 755,500 218,000 537,500
01 Al&HI 755,000 218,000 537,000
OE=A0tA o0l 23 At 100,000
OB H ASHE TH ol Ol 2 S At 200,000
O3 Aot ol Ol 2 S At 275,000
OZMAGHA THol 0l 2 S At 180,000
03 Al 2 CHHI 500 0 500
OAotd THOHOI AL Al =04 500
'20.7.28~8.11 THoll = At 509,788 0 509,788
= 509,788
401 AIEHIZ 2 CHYI 509,788 0 509,788
= 509,788
01 A€ dl 509,788 0 509,788
Ozctd Mol =AY 509,788
= 509,788




AR RSN R
gz APt
o XI=2el (cho &)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
'20.7.28~8.11 HHE P ML (XN LGHE-ZEDNS L) 1,037,560 0 1,037,560
= 1,037,560
401 AIEBIL 2 CHEI 1,037,560 0 1,037,560
= 1,037,560
01 A€ dl 1,037,560 0 1,037,560
OXZaotE Mol =AY 1,037,560
= 1,037,560
'20.7.28~8.11 Mol S A L (X Lot -BHEHAHMR) 762,511 0 762,511
= 762,511
401 AIEHI YL 2CHYI 762,511 0 762,511
= 762,511
01 Al £ HI 762,511 0 762,511
OX&atd Mol =AY 762,511
= 762,511
(el SRLES 29,831 26,069 3,762
otd s Al2el 29,831 26,069 3,762
101 1248l 10,017 9,069 948
04 DIt Z22XsSE* 10,017 9,069 948
Osotd2cd 24 10,017
A= 69,8003 x2H 45 6,282
- &5+ 69,8003 x2H x4 «201 & 1,117
- 52=g 69,8003 1.5+2H x4 838
- =g 69,8003 x2F «2& 280
- BE= 1,500
201 Yet2 2t 16,934 12,680 4,254
01 At 2t 2l bl 5,884 3,580 2,304
Octd A=A 7E 60,0003 22 120
Ootd &g R MRESHI 80,0003 1271 & 960
Ootd =EHEE &%, sXNEXE HMH
50,000& 504 2,500
Ootd 8 =gl 8,000 »3E 8L 1201 & 2,304
02 =524t 11,050 9,100 1,950
OJNsSE, wdExd, EXXNHI Hlles
39,580 x 1871 A 123 8,550
OJsE FA22Hl 2,500
202 Ol 2,880 4,320 A 1,440
01 S LHOYI 2,880 4,320 A 1,440
Ootdsg & X8
20,0003 «3B x4 « 1204 & 2,880
ol = 7E 1,509,646 1,016,511 493,135
S 36,200
ES 100,000




M CHMTH It
M ord M4 7E
ool YN OEY TS CER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
o 1,373,446
Qo ot PE 683,526 699,751 AN 16,225
CCTV SE2MHUEH 2F 683,526 699,751 AN 16,225
201 £B-2dH| 254,334 233,431 20,903
01 At 22l 15,000 16,470 A 1,470
OZHMHH 2L (HIS, = S)
500,000& 123 6,000
o4l o HAZAZRIY P
9,000,000& » 14 9,000
02 3323l 239,334 216,961 22,373
OCCTV #8836 3 11,750,000& = 12& 141,000
OCCTV &2 3 950,000& =122 11,400
OMedy CCTV s Xl 2el 20,000,000 » 14 20,000
OZHAIAE X &2 66,934
—otEAN 567,657,323 *7%*1. 1 43,710
— AT EY N 191,926,362 *11%* 1.1 23,224
202 oddl 5,040 4,320 720
01 = LH o4 1l 5,040 4,320 720
OztH & e gRF=2 20,0003 «3F +x7L 128 5,040
307 gl2tol & 424,152 387,000 37,152
05 RIZHRIE 3 424,152 387,000 37,152
OCCTV SS2MAH 2HSTS 22t E
35,346,000& 123 424,152
Metotd &2 826,120 316,760 509, 360
< 36,200
BN 100,000
s 689,920
SO MEorM CCTV &X1 % el 483,000 79,500 403,500
201 Let24d] 20,000 6,000 14,000
02 =224l 20,000 6,000 14,000
Obtsgd CCTV s X 2el 20,000,000 » 14 20,000
401 Al HI & 28I 463,000 0 463,000
01 A& HI 463,000 0 463,000
OOty CCTv & X 12,000, 0002 *300H £ 360,000
OMedrd CCTV &l &X
12,000,000& *5H 2 60,000
OMeerey CCTV == Jtict wXl
4,300,000& *10CH 43,000
2HHZ CCTV XX & At 106,000 90,000 16,000
< 21,200
i 84,800
401 Al Bl 28I 106,000 0 106,000




2N
X ZH -
L= B

el

25,000,000 * 14!

= _ — d =
K- ZE SR (3) - HRAY - BaS 0l &t o il HImEET
== 21,200
s 84,800
01 A& HI 106,000 106,000
ogdE CCTv & Xl 106,000
< 21,200
[ia 84,800
MHetatata 2 87,120 55,860
201 Let24d]| 87,120 55,860
01 At 2teltl 31,200 260
Og = 28,800
- =3 60,000 »1H »365 21,900
— 24 60,0003 x 1113 6,780
— g8 60,0003 1 22! 120
Ogaa 2H(HIE, dxtg 5)
200,000& »12& 2,400
02 2324l 55,920 55,920
OUEEAE St 2,500,000& x12& 30,000
OUIEANLE HIRS 160,000& = 12& 1,920
OUEEANE RAE= 2,000,000& x12& 24,000
OtMGEH 202l ZHAY 50,000 10,000
< 15,000
= 35,000
401 AIEHI L 201 50,000 50,000
< 15,000
[ia 35,000
01 A& Bl 50,000 50,000
OotEst gt2 el CCTV & Xl 50,000
< 15,000
e 35,000
AZMA SO 2aH|& XA (XY = 100,000 24,000
2501 2 01 0fl &)
EN 100,000
401 AIEHI L 2 CHYI 100,000 100,000
x 100,000
01 A& HI 100,000 100,000
O8N AANANSI RHHIESEANAE &
<K S L =S FEA 0 &> 25,000
25,000,000& =14
N 25,000
OFAY FAANMMSI RHHIASESANAE A
A< S LS F2EA O &> 25,000
25,000,000& » 14!
EN 25,000
OHEY FANMAMNSI RHHIESEANAY &
AKX S L =S FEA 4> 25,000




S A OFE LD
X

HE: obF 4 P

CHelr MEOIN €9 (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
N 25,000
OH=Y AZAMAMNSI RHHEI4SEAAE &
<K S L =S F2EA &> 25,000
25,000,000& =14
EN 25,000
HE2HZ Y (HE TH D) 26,880 29,045 22,165
JlE &3l 26,880 29,045 N2,165
JlE2&l 26,880 29,045 N2,165
201 Let24] 17,760 16,205 1,555
01 At 2t 2l 17,760 16,205 1,555
otER=Eg 2,640
- =X 15,0003 x4& 123 720
— XX 10,0002 x 165123 1,920
O=AEX ¢ 23,0003 #10H A %128 2,760
O=AD Xtz 660,000& »12& 7,920
OAMEHY 2H=8 ¥ 200,000& 1228 2,400
OMEAH2SI| M= 6,0003+208+128 1,440
OZ3J18&J dxxz 50,000& x10H =12 600
202 4 Hl 4,320 8,640 A 4,320
01 = LH 4 HI 4,320 8,640 A 4,320
ORME2E =U0b 4,320
203 YR =&l 4,800 4,200 600
04 REN2ELRZ=TH 4,800 4,200 600
ORNM2IYRFLH 400,000& x12& 4,800
NEES(HE ) 300,000 300,000 0
WEHHX = 300,000 300,000 0
=88 300,000 300,000 0
702 JI2EEZ 300,000 300,000 0
0MNII3EES 300,000 300,000 0
OMt2elz =g 300,000




